
Contact your authorized Parker Fleet Distributor 
for ordering, catalogs and further information or 
visit www.parker.com for detailed information.

Part numbers shown are for steel. Other material options available. Go to www.parker.com for details. 
Dimensions and pressures are for reference only and are subject to change.

F68

A
d

a
p

te
rs

: 
E

O
 a

nd
 E

O
-2

 M
et

ri
c 

B
ite

 T
yp

e 
F

itt
in

g
s WH-R-KDS

High Pressure Banjo Elbow
24° Flareless / BSPP

For EO-2 part number, insert “Z” 
between size and pressure series. 
Example WH06ZLRKDSCF

WH-M-KDS
High Pressure Banjo Elbow
Banjo Metric / Flareless

For EO-2 part number, insert “Z” 
between size and pressure series. 
Example: WH06ZLMKDSCF

1

2

1

2

WAS
Weld Elbow
24° Flareless / Butt Weld

For EO-2 part number, insert 
“Z” between size and pressure 
series. Example: WAS06ZL

1

2

T
Union Tee
24° Flareless

* Extruded body for steel and brass.
For EO-2 part number, insert “Z” 
between size and pressure series. 
Example: T04ZLLCF

1 2

3

Part 
Number

End Size
1 

(mm)
2 

BSPP
L Series

WH06LRKDSCF 6 G 1/8 A
WH08LRKDSCF 8 G 1/4 A
WH10LRKDSCF 10 G 1/4 A
WH12LRKDSCF 12 G 3/8 A
WH15LRKDSCF 15 G 1/2 A
WH18LRKDSCF 18 G 1/2 A
WH22LRKDSCF 22 G 3/4 A
WH28LRKDSCF 28 G 1A
WH35LRKDSCF 35 G 1 1/4 A
WH42LRKDSCF 42 G 1 1/2 A

S Series
WH06SRKDSCF 6 G 1/4 A
WH08SRKDSCF 8 G 1/4 A
WH10SRKDSCF 10 G 3/8 A
WH12SRKDSCF 12 G 3/8 A
WH14SRKDSCF 14 G 1/2 A
WH16SRKDSCF 16 G 1/2 A
WH20SRKDSCF 20 G 3/4 A
WH25SRKDSCF 25 G 1A
WH30SRKDSCF 30 G 1 1/4 A
WH38SRKDSCF 38 G 1 1/2 A

Part  
Number

End Size
1 

(mm)
2 

Metric
L Series

WH06LMKDSCF 6 M10 x 1
WH08LMKDSCF 8 M12 x 1.5
WH10LMKDSCF 10 M14 x 1.5
WH12LMKDSCF 12 M16 x 1.5
WH15LMKDSCF 15 M18 x 1.5
WH18LMKDSCF 18 M22 x 1.5
WH22LMKDSCF 22 M26 x 1.5
WH28LMKDSCF 28 M33 x 2
WH35LMKDSCF 35 M42 x 2
WH42LMKDSCF 42 M48 x 2

S Series
WH06SMKDSCF 6 M12 x 1.5
WH08SMKDSCF 8 M14 x 1.5
WH10SMKDSCF 10 M16 x 1.5
WH12SMKDSCF 12 M18 x 1.5
WH14SMKDSCF 14 M20 x 1.5
WH16SMKDSCF 16 M22 x 1.5
WH20SMKDSCF 20 M27 x 2
WH25SMKDSCF 25 M33 x 2
WH30SMKDSCF 30 M42 x 2
WH38SMKDSCF 38 M48 x 2

Part 
Number

End Size
1 

(mm)
2 

(mm)
L Series

WAS06L 6 10
WAS08L 8 12
WAS10L 10 14
WAS12L 12 16
WAS15L 15 19
WAS18L 18 22
WAS22L 22 27
WAS28L 28 32
WAS35L 35 40
WAS42L 42 46

S Series
WAS06S 6 11
WAS08S 8 13
WAS10S 10 15
WAS12S 12 17
WAS14S 14 19
WAS16S 16 21
WAS20S 20 26
WAS25S 25 31
WAS30S 30 36
WAS38S 38 44

Part 
Number

End Size
1 - 3 
(mm)

LL Series
* T04LLCF 4
* T06LLCF 6
* T08LLCF 8
* T10LLCF 10
  T12LLCF 12

L Series
* T06LCF 6
* T08LCF 8
  T10LCF 10
  T12LCF 12
  T15LCF 15
  T18LCF 18
  T22LCF 22
  T28LCF 28
  T35LCF 35
  T42LCF 42

S Series
* T06SCF 6
  T08SCF 8
  T10SCF 10
  T12SCF 12
  T14SCF 14
  T16SCF 16
  T20SCF 20
  T25SCF 25
  T30SCF 30
  T38SCF 38

Link to Section Table of ContentsLink to Master Table of Contents

http://www.parker.com/portal/site/PARKER/menuitem.de7b26ee6a659c147cf26710237ad1ca/?vgnextoid=fcc9b5bbec622110VgnVCM10000032a71dacRCRD&vgnextfmt=EN&vgnextdiv=687614&vgnextcatid=2354820&vgnextcat=WH-R-KD%20STEEL
http://www.parker.com/portal/site/PARKER/menuitem.de7b26ee6a659c147cf26710237ad1ca/?vgnextoid=fcc9b5bbec622110VgnVCM10000032a71dacRCRD&vgnextfmt=EN&vgnextdiv=687614&vgnextcatid=2354818&vgnextcat=WH-M-KD%20STEEL
http://www.parker.com/portal/site/PARKER/menuitem.de7b26ee6a659c147cf26710237ad1ca/?vgnextoid=fcc9b5bbec622110VgnVCM10000032a71dacRCRD&vgnextfmt=EN&vgnextdiv=687614&vgnextcatid=2395838&vgnextcat=WAS%20WELD%20ELBOW
http://www.parker.com/portal/site/PARKER/menuitem.de7b26ee6a659c147cf26710237ad1ca/?vgnextoid=fcc9b5bbec622110VgnVCM10000032a71dacRCRD&vgnextfmt=EN&vgnextdiv=687614&vgnextcatid=2348631&vgnextcat=T%20UNION%20TEE%20STEEL
http://www.parker.com/Literature/Fluid%20Connectors%20Group/Fluid%20Connectors%20Group%20Static%20Files/0-FleetIntroduction.pdf

